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FLUENCY

Resedrch and Information

Types of Fluency

Tgpe

Memorization?

Yes

No




FLUENCY
Fact Fluencv

Addition Subtraction

Mul’cilolico\tion Division




FLUENCY

Comlouto\’cional Fluency

Addition

Subtraction

Multiplico\’cion

Division




FLUENCY

H What are your s’crengﬂ\s?

i\ll/l What are your opportunities for growth?

Q What are your plans for next Monday?
Next month?
Next year?

WORD PROBLEMS

Resedrch and Information




WORD PROBLEMS
Attack Strategies

SOLVE
Study the problem
Organize the information
Line up a plan
Verify the plan

Examine the answer

UPS Check
Understand
Plan

Solve

Check

R-CUBES
Read the problem
Circle key numbers
Underline the question
Box action words

Evaluate stelos
Solve and check
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WORD PROBLEMS

Additive Word Problems

A.

The bar graph shows the number of students in
edch grade at a school. How many move students
dre in gmo(e 7 than are in 9mo(e 47?

Students at a School

100
90
80
70
60
50
40
30
20
10

Number of Students

B.

A package of bread hds a mass of 623 grams. One
slice of bread is removed from the package. The
slice of bread has a mass of 55 grams. What is the
mass, in grams, of the package of bread after the

slice of bread is removed?

C.

A student measures the mass of 2 jars of sand. The
total mass of the 2 jars of sand is 963 grams.
Which two jars of sand have a total mass of 963
grams?

D.

A photographer has a picture album that holds
100 pictures. The photographer fills 57/100 of the
album with pictures of trees. She fills 30/100 of
the album with pictures of animals. What fraction
of the album is filled with either pictures of trees

or animals?




WORD PROBLEMS

Mul’cilolicol’cive Word Problems

E.

There dre 8 loeolole. Theg each have 4 oranges.
Which expression shows how many oranges the
people have altogether?

+

.8+4
.8-4
.8x4
.84

o 0O W D

F.

A farmer plants 4 rows of trees. Each row has an
equal number of trees. There are 1,580 trees on the
farm. What is the number of trees in edach row?

G.

A store has two lamps for sale. Lamp A costs $9.
Lamp B costs 6 times more than Lamp A. How much
is Lamp B ?

H.
There dare 3,726 students sloeno(ing the summer at
a camp. The students are divided equallj into 9
groups. How many students are in each group?

¥ Atk




WORD PROBLEMS

Total

Difference

Ckange

EqualGroups

Comparwon

Ratios and onloor‘tions




WORD PROBLEMS

Multi-Step Word Problems

l.

A frog wants to reach a pond that is 10 feet away.
The frog hops 5 times. Each hop is 18 inches.

How madny more inches does the frog need to travel

to reach the pono{?

J.

Three people play a video game.

« Person A scores 3,793 looinfs.

+ Person B scores 4,286 points.

» Person C scores 5,941 points.

How many movre looin’cs do Person A and Person C
have together than Person B ?

K.

A store has a parking lot. There are 6 rows of
parking spaces in the parking lot. There are 8
parking spaces in each row. There are 19 cars
parked in the parking lot. How many parking
spaces in the parking lot are empty?

L.
An egg farm packages 264 total cartons of eggs
each month. The farm has 3 different sizes of
cartons.
The small carton hold 8 eggs, and 1/6 of the
total cartons are small.
The medium carton holds 12 eggs, and 2/3 of
the total cartons are medium.
The large carton holds 18 eggs, and the rest of
the total cartons are large.
Determine how many edach size of carton is needed
each month. Then determine how many eggs are
needed to fill the 264 cartons.

¥ Atk




WORD PROBLEMS Multi-Step Word Problems

M.




WORD PROBLEMS Directive Word Problems

O. P.
What fraction, when ddded to 3/8, would make Three shapes ave listed in the table. Place a check
one whole? mark to show what is true for each shape. Select

one or more than one box per row.

Sh Isa Has More Than
ape Quadrilateral 5 Sides

rectangle |:| D
hexagon |:| D
square |:| D

Q. R.
Which coordinate pairs represent points on the A fish tank is in the shape of a right rectanqular
graph? Select the two coordinate pairs. prism. The fish tank has a length of 6 feet, a

width of 2 feet, dnd a height of 3 feet. What is the
volume, in cubic feet, of the fish tank?

Boat Distance

Yy
1000 |

800

600

Distance (m)

400

200

> X
0 5 10 15 20 25

Time (sec.)
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WORD PROBLEMS

H What are your s’crengﬂxs?

i\ll/l What are your opportunities for growth?

Q What are your plans for next Monday?
Next month?
Next year?

INSTRUCTIONAL PLATFORM

Instructional Platform




SCOPE AND SEQUENCE




